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Place Value

Round 12 674 to the nearest ten.

x and *
Use a written method
to solve this calculation:

Problem Solving

Find three different ways to complete this
part whole model using decimal numbers.

+ and -

74 750 + 3000 =

10 000 - 2800 =

Fractions

Convert this improper
fraction into a mixed number:
13 _

10

Reasoning

An angle measuring 125°
is an obtuse angle.

Is Alison correct?
Explain your reasoning.
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Place Value

Which symbol completes this
number sentence?

10 321 ]1321

x and +

Use a written method to solve this
calculation:

8471 x 8 =

Problem Solving
Identify the square numbers:

4,6, 9,15, 16, 27

+and -

27524 +3000= |

10000-3900 = ]

Fractions

Subtract these
o R D I

Reasoning

If I count on @ number
line from -12 to 5, the
difference will be 7.

Is Henry correct?
Explain your reasoning.




